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Dimensional formula for thermal

conductivity is (here K denotes the

temperature) :
Options :

40503640521, MLT °K

I 3 —1
40503640522, MLT 2K

g 31
40503640523, MLT °K

"}

40503640524, MLT 2K
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AT STeTshal  ferd fafa 99 (dimensional
formula) g (9= T K 9199 =90 2)



Options :
] 2
40503640521, MLT °K

4 3 1
40503640522, MLT K

/ 3
40503640523. MLI™*K

/ 2
40503640524, MLT 72K~ 2
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A Tennis ball is released from a height h

and after [ reel}-' faHj_ng on a wooden floor

. y h
it rebounds and reaches hmght 5 The

velocity versus height of the ball during its
motion may be represented graphically
by :
(graph are drawn schematically and on
not to scale)
Options :
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—~ _+ »h(v)
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Starting from the origin at time t=0, with

initial velocity 5 i ms . a particle moves

in the xX—y plane with a constant

acceleration of [ 107 4 -Lﬂnlr;_z. Al ime
\ J

t, its coordinates are (20 m, g m). The
values of t and I, are, resp ectively :

Options :
40503640529, 2 Sand 24 m

40503640530, 4 sand 52 m

40503640531, = Sand 18 m

40503640532, ° Sand 2> m
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Options :

40503640529, = S 24 m

40503640530, 45 FL52m

ZEGﬂTlﬁm

40503640531.

40503640532, 55 2B m
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Blocks of masses m, 2m, 4m and 8m are
arranged in a line on a frictionless floor.
Another block of mass m, moving with
speed v along the same line (see figure)
collides with mass m in perfectly inelastic
manner. All the subsequent collisions are
also perfectly inelastic. By the time the last
block of mass 8m starts moving the total
energy loss is p% of the original energy.
Value of ‘p’ is close to:

—_— T

L FiFi T T T
/ !

i £ ra, L iy,

ey i, L A, A

m m 2m 4m sm

Options :
40503640533, 37



40503640534, /7

40503640535, 87

40503640536, >3
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On the x-axis and at a distance x from the

origin, the gravitational field due to a mass

Ax
distribution is given by ——, in the
i Fa -
x-direction. The magnitude of

gravitational potential on the x-axis at a
distance x, taking its value to be zero at
infinity, is :

Options :

A
- ~n 3/
(x~ +a )=
40503640537. '
A
., N 1/
(x~ +a” )"~
40503640538. :
b . 3%
40503640539, X~ Ta%)
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A air bubble of radius 1 cm in water has
an upward acceleration 9.8 cm s 2, The
density of water is 1 gm cm 3 and water
offers negligible drag force on the bubble.
The mass of the bubble is
(=980 cm/s?).

Options :

o
40503640541, 122 8M

40503640542, 12 8M

40503640543, =10 &m

40503640544, 21 8M
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2111 cm &1 U a1 F1 Fogen IH H 9
1 3R 9.8 cm s~ 2T H T WIE | I
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Options :
40503640541, 122 &M

40503640542, 12 8M



40503640543, =10 &m

40503640544, +°1 &M
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The specific heat of water=
4200 J kg IK -1 and the latent heat of
ice=3.4x10° Jkg~!. 100 grams of ice at
0°C s placed in 200 g of water at 25°C. The
amount of ice that will melt as the
temperature of water reaches (°C is close
to (in grams) :

Options :

40503640545, 69-3

40503640546, 1+

40503640547, 646

40503640548, 038
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AT = fafere S=4200 J kg~ ! K~
TF F foge =1 Td 1=3.4x105] kg !
g1 0°C H1 100 g % 1 25°C 3 200 g I
H 2Tell S0 € | 9= 9T 0°C W A § i 9%
=1 TR A= (UM | ) frae se ?
Options :

40503640545, 69-3

40503640546, 17

40503640547, 646

40503640548, 038
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Match the C,/C,, ratio for ideal gases with

different type of molecules :

Molecule Type Cp/Cy
(A) Monatomic iy 7/5
(B) Diatomic rigid molecules (I 9/7
(C) Diatomic non-rigid molecules (III) 4/3
(D) Triatomic rigid molecules IV)5/3
Options :

40503640549, (V). B)-(), (C)-(ID), (D)-(TID



40503640550, V) (B)-D), (Q-(), (D)}-(1)

40503640551 A, B)-AV), (C)-(I), (D)(1)

10503640552, LI (B)-(HI), (C-(@), (D)(IV)
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% [l "

fara- o sropadi | =+t 1wl 19 & fed T &t
AT | § ] F ¥ER SR T F C,/C,

30T o Wkt o) T
(A) TF THANF o 7/5
(B) %Wﬂﬁq?ga:{ul (1) 9/7
© 5 T, 373 (m 4/3
(D) 3w, 33 = (IV) 5/3
Options :

40503640549 V), (B)-(I), (C)-(II), (D)-(1TT)

140503640550, V) (B)-D), (Q-(), (D)-(1I)

40503640551 A, B)-AV), (C)-(I), (D)(1)

40503640552, LI (B)-(HI), (C-(@), (D)(IV)
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For a transverse wave travelling along a
straight line, the distance between two
peaks (crests) is 5 m, while the distance
between one crest and one troughis 1.5 m.
The possible wavelengths (in m) of the
waves are :

Options :

40503640553, 1 2 3 -
40503640554, 17 3 e

1.4
40503640555. 1 3 5

a. 5.1

2" 4:r 6,— .....

40503640556.
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Options :

40503640553, 1 2 3, oo

40503640554, 17 37 27
1.1
40503640555, 1 3 5
1 1 1
2F 4r E;‘_'.-- .....

40503640556.
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Two charged thin infinite plane sheets of
uniform surface charge density o, ando_,
where |0, | > |o_|, intersect at right angle.
Which of the following best represents the

electric field lines for this system :

Options :
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w7 |
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40503640557.
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A two point charges 4q and —q are fixed

¥

) d
on the r-axis at x = = and x =

2 B
respectively. If a third point charge 'q’ is
taken from the origin to x=d along the
semicircle as shown in the figure, the

energy of the charge will :

."{??’- --‘b&"‘.l

4q | —q
Options :

decrease b}-’
40503640561.

increase by
40503640562.



”

4q°
Feqd

decrease b}-‘
40503640563.

2
2q

increase b}-‘

Iqreqd
40503640564 0t
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A battery of 3.0 V is connected to a resistor
dissipating (0.5 W of power. If the terminal
voltage of the battery is 2.5 V, the power
dissipated within the internal resistance
IS :

Options :

2% W
40503640565. 0I5 W

40503640566, 020 W

= AT
40503640567, 072 W

40503640568, 010 W
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3.0 V&I U S0 U g J I3 5 2
59 gt # 0.5 W 9Ife &1 &9 2 €1 3fg
F=0 F o (terminals) & 3= Freedl
2.5V @l ol 92l F aaais wiaie # e ae
ATl 9ifad =61 71 2

Options :

40503640565, 12 W

40503640566, 020 W

7 AT
40503640567, 072 W

40503640568, 010 W
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A wire A, bent in the shape of an arc of a
circle, carrying a current of 2 A and having
radius 2 cm and another wire B, also bent
in the shape of arc of a circle, carrying a
current of 3 A and having radius of 4 cm,
are placed as shown in the figure. The ratio
of the magnetic fields due to the wires A

and B at the common centre O is :

Options :
40503640569, ©:5

40503640570, =2
40503640571, 4:6

40503640572, 614
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A small bar magnet placed with its axis at
30° with an external field of 0.06 T
experiences a torque of 0.018 Nm. The
minimum work required to rotate it from
its stable to unstable equilibrium position
18 :

Options :
40503640573, 6-4%107%]

i 2
40503640574, =X 1077]

3
40503640575, 2-2X107° ]

3
40503640576, 117 X107 ]
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TF g€ T=F HI a5 0.06 T F TH =
TEEE 959 § UH T 9@ 6 sEe 514
TEEHA A H 30° FHV G, O TEE W
S =T 9 A0 0,018 Nm €1 UH H 4f2
TF F SHF A W H SRR 9 9
THE 9E @ 59 WA H A S 9l A
14 1 A 2

Options :

: 2
40503640573, &-4x1077]



r 2
40503640574, 12X 1077]

3
40503640575, 2-2%107°]

3
40503640576, 117 %1077 ]
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A small bar magnet is moved through a
coil at constant speed from one end to the
other. Which of the following series of
observations will be seen on the

galvanometer G attached across the coil 7

o

&
WL
YO L
<10 000000000 =1« omagnet
c
Three positions shown describe : (a) the
magnet’s entry (b) magnet is completely
inside and (c) magnet’s exit.
Options :

(a) (b) (©)

-

P Y SR L. R
ATV T
| = |—> I

\ |
J 1 / i\ |
Y 4, £ ', F

40503640577, ~—" S N
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(2) (b) ()
[ # =]

I'\-__

40503640579,

40503640580, e 8 o
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Choose the correct option relating
wavelengths of different parts of

electroma gI'IC'L‘I:.C wave S»pDCT.I'UITl 9

Options :

hrad i0 waves > h]’l'lji:]'[.!‘ waves e h‘uisih]e -
. L

40503640581, TS
hvisih]e = ‘h‘x-ra}'s = hrad:iu waves

40503640582 l;h..]'l'liitil'li.:' waves

< A . < K s
A-Tdys mMCre waves radio waves

.
40503640583, * visible

o = i < .
h'u isible hm.u:m Waves hrarjm Waves

|
40503640584, *TY®
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SR T e
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A beam of plane polarised light of large
cross-sectional area and uniform intensity
of 3.3 Wm 2 falls normally on a polariser
(cross sectional area 3 x 10~ % m?) which
rotates about its axis with an angular
speed of 31.4 rad/s. The energy of light
passing through the polariser per
revolution, is close to :

Options :

h
40503640585, 10X1077]



4
40503640586, 10X 107%]

4
40503640587, 10 <1077]

4
40503640588, 2-0x107% ]
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3.3 Wm~2 9/ U Hadal fdad T =l
U9 TF Y95 (polariser) T TFEEq TSl 2|
9% T GAEA 3x 10" 4 m2 ¥ 1 gaF TH
e W HIE A 314 rad/s ¥ IH W@ 2
Y H qfd TRYH 59 YF J B S =T
T it Feall 1 T TR F B2 6
Options :
40503640585, 10> 1077 ]

4
40503640586, 1-0*107%]

4
40503640587, 2 < 1077]

4
40503640588, 2-0%107% ]
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Correct Marks : 4 Wrong Marks : 1

’ m ;
Particle A of mass m sy moving along

r

the x-axis with velocity v, collides

elastically with another particle B at rest
] m "
havmg mass mg = _% If both parthIes

move along the x-axis after the collision,
the change A\ in de-Broglie wavlength of
particle A, in terms of its de-Broglie

wavelength (A,) before collision is:

Options :
3
i:‘& - ; :"L.[}
40503640589. <
AN=2),
40503640590,
5
AN = = Ag
40503640591, 2

AN=4),
40503640592.
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m
2

FHAA m, = — 1 B A, x-HAG F HY

0, 7T =TeTdl g ZT9F mp = %  F0l

B, S fawramaes | &, 9 qoare: 2ol 2|
If T & A1E ST F1 - & F A1 AiA9ie
g, T4 U A F S-arel qinesd # gfiada
AN 1 HF THF HUE 9 el & S-drdl
e () ¥ 9 yEn et 27

Options :
40503640589. =

40503640590.

40503640591. =

Ar=4)\,
40503640592.
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Take the breakdown voltage of the zener
diode used in the given circuit as 6V. For
the input voltage shown in figure below,

the time variation of the output voltage is:

(Graphs drawn are schematic and not to

scale)

P{} V e —#
T TN, e
-1 N AN Vi £V

£
.x\_‘_J___/'rJ __\5 .__j"
—10V

Options :

40503640596.
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o T 9y | @ SR SEE #oH6sA
Fiezdl (breakdown voltage) 6V GIEGEREE!
T femardt 3 e (input) ezl o forg frm
(output) FiTed FHE & 9 fF9 TFR
e 7

(Ta3 |iFfas 2)

‘ oV R T )
T > o i Y
.‘I';r =] [] :’/ -[ \:‘. .-: \'-_ - 1“ in ]'\. -’ 1" o
F, \ F,
‘ L b 1 o)

10V

Options :
‘l.u'?

40503640593. |

A" r r t

40503640594.

']

40503640595. ‘



40503640596.
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Given figure shows few data points in a
photo electric effect experiment for a certain
metal. The minimum energy for ejection
of electron from its surface is : (Plancks
constant h=6.62 x 10 ~34 ] s)

X
=
Y ;
A L,
Sl Sew
i
B (5.5, 0)
AL ;

_5, f(10MHz)
Options :
40503640597, 210 eV

40503640598, 1-93 eV

[
ta
~1
o

<

40503640599.

5 T
40503640600, 229 €V
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fed 4 faa § U 91 W e e geE &
WM % FB ATHEl & (o femd ™ E1 3™
41q 1 T8 9 gelaeE Sdtad & % fad
[IqH AEYIF Sl FHA E : (i (ERE
h=6.62 x 1034 ].s)

Y

v Stop (V)

&
___;F(ﬁr 1'!.-"}
//
Be(55,0)
AL

_5, £(10% Hz)

X

Options :
40503640597, 210 eV

40503640598, 1-93 eV

3
2
=1
e

=

40503640599.

. '
40503640600, 222 €V
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ABC is a plane lamina of the shape of an
equilateral triangle. D, E are mid points of
AB, AC and G is the centroid of the lamina.
Moment of inertia of the lamina about an
axis passing through G and perpendicular
to the plane ABC is I;. If part ADE is

removed, the moment of inertia of the

NI
remaining part about the same axis is TE:}

where N is an integer. Value of N is

Response Type : Numeric
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Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002
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o § ABC U# 9Wag A1y9 & &R =i
T (lamina) ¥1 S99 D 3R E %H: AB 3R
AC & A -fag 91 G 50 WA #1 Fsk 2 |
Fmd H TEHL 9 96 ABC T & o =eq
1% % T T F1 92 0 [, ¥ 1 Al wa
H ADE 971 %1 gel foa <™ o @< g 91 =0
‘Nl

16

(N Us quis &) 2 & 81 N &1 99 @
|

THl Ay & HI9w Weod AT

A
.-ﬁ\-\.

+G :
N
B C
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5t0 5.002
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A circular disc of mass M and radius R is
rotating about its axis with angular speed

0. If another stationary disc havmg radius

% and same mass M is dmpped co—axiall}-'

on to the rotating, disc. Graduall}-' both discs
attain constant angu lar speed . The
energy lost in the processis p % of the initial

energy. Value of p is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
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5t05.002
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THHA M 991 591 R &t U feth 3197 3¢
T HE M o, T AT T 30 femw muw
T femr fome g=2m@ M T B %%
HHTET: {coaxiall}fjﬁﬁfl”ﬁﬂﬂﬁl%l T ofi-
HiY T 2%k 311 H U WY H100E 7 o, J
IO @A €1 59 Wik A H g Tt 6 p
w9l ®1 41fq 2 S 21 op FOAA 2
|
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A closed vessel contains 0.1 mole of a
monatomic ideal gas at 200 K. If 0.05 mole
of the same gas at 400 K is added to it, the
final equilibrium temperature (in K) of the

gas in the vessel will be close to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002
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T 9= 9q9 9 200 K a99E = (0.1 94 UF
AT SS9 T 9 g8 €| AfE 400 K AT
el SH 79 F 0,05 A SR R fed 9 A
e H 39 99§ 0 79 H arEe
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5 to0 5.002
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In a compound microscope, the magnified
virtual image is formed at a distance of
25 cm from the eye-piece. The focal length
of its objective lens is 1 cm. If the
magnification is 100 and the tube length of
the microscope is 20 cm, then the focal

length of the eye-piece lens (in cm) is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002
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U Hgad ﬂﬁﬁ?ﬁ (compound microscope)
T AT AT Wit (magnified virtual
image]ﬁﬁ&m"‘[ﬁ 25cm§°rq'{a:l?ﬂ?§l 6
Afgvas o F BFHA g4 1cm 1 AR
ST 100 81 SR GHae 1 Aol S o
ZDCLHﬁﬁEﬁﬁﬁﬁﬁmﬁW@
(em®) @00 |
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5t0 5.002
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In the line spectra of hydrogen atom,

difference between the largest and the

shortest wavelengths of the Lyman series

is 304 A. The corresponding difference for

the Paschan series in A is:
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Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002
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BISSIS LAY 3 THEEH &l @59 4 § Ja

el S T P e # e

304 A 1 ARRE | T WVH AT FT T =T
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Correct Marks : 4 Wrong Marks : 1
Match the following :

(i) Foam (@) smoke
(i) Gel (b) cell fluid
(iii) Aerosol (c) jellies
(iv) Emulsion (d) rubber
(e) froth
(f) milk

Options :
40503640606. (1)-(e), (i1)-(c), (11)-(a), (iv)-(f)

40503640607, @) (i)-(c). (ii)-(e), (iv)-(d)
40503640608. (1)-(d). (i)-(b), (iii)-(e), (iv)-(f)

40503640609. (1)-(d), (w)-(b), (ui)-(a), (v)-(e)
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(i wm () T (y)
(i) <@ (b) T&A A
(i) U () e
(iv) SHETH d) TR

(e) TIA

(f) =¥

Options :
40503640606. (9)-(e), (i)-(c), (ii)-(a), (iv)-(f)

140503640607, V(). (1D)-(c). (ii)-(e), (iv)-(d)
40503640608. (1)-(d). (i)-(b), (ii)-(e), (iv)-(f)

40503640609. (1)-(d), (1i)-(b), (iii)-(a), (iv)-(e)
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hEXt

1]
|_V ¥ g
R A
WAAARAAAAN

Zn rod Curod
—ve +ve
1M - 14 ™

ZnS0, E =] CuSO,

soln, | T soln.

LCu2+|Cu =4+034V

B 2tzn= ~076V

Identify the incorrect statement from the

options below for the above cell :

Options :

IfE.. <11V, Zn dissolves at anode
40503640610, and Cu deposits at cathode

If EEKt = 1.1V, no flow of e~ or

40503640611, current occurs

If EEKt >1.1V, e  flows from Cu to
40503640612, £n

It E e 1.1 V, Zn dissolves at Zn

qEK
electrode and Cu ::lepnsits at Cu

40503640613, electrode
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Cu rod
T +ve
] ™
1 CuSOy
fereram
LCu3+|Cu = +0.34V
LG2+|zn =-076V

I T F o 9 o3 ™ fawed § |
TeAd 97 &l Tg=d :
Options :
A By < 1.1V, TS THIE W e @
20503640610, M Cu FeirE T <1 2l 2 |

A B = 1.1V, e~ 319a1 910 &
40503640611, ~one el =

A E ;> 1.1V, TS 1 J91E HW
40503640612, J Toish =1 2|



QG S 1.1V, Zn, T soRE W
Tedl € T Cu, FIW T T o

40503640613, T €1
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For the equilibrium A’ B, the variation
of the rate of the forward (a) and reverse
(b) reaction with time is given by :

Options :

o
c 4
2 N
=z 2
< ________':-—-AI equilibrium
all b
M , .
v, —* Time
40503640614.
=
=
- s
24 A e S o
3 R e I equilibrium
"y YT —
o -
81
o e ’
(27 — lime

405036400615.



‘\\ a

— _-I equilibrium
e b

-
-

5

Rate of reaction

— T3 y
40503640616. [ime
B
=l 5
TylNa2
E quuilibrium
3 7 “h
m L = 3
[ — Time
40503640617.
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|, A B, & T, T9F % 919 379 (a) a0
I5FH (b) A9l =1 < &1 afiEe 74 F
B T smam

Options :

1
G4 \a

40503640614, — Y



Ry
@ 4| S_a 7=
'\-\...\____::F:::_-_.- I 'H'rm
Z% .____.-'"b —
40503640615, — A9
R
g5 4| 2
: '_I =
_,/-"'..- b‘
40503640616. — WY
54 N\2 y
] e
% /b O
40503640617, —
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For one mole of anideal gas, which of these

staterments must be true ?

(a) U and H each depends only on

T.EIIIPEI'HT.'UI'E

(b) Compressibility factor z is not equal
to1
(c) CP, m_ C"r’,. m- R
(d) dU=C,,dT for any process
Options :
40503640618, (€ and (d)

40503640619, (@ and (©)

40503640620, \*) (€)and (d)

40503640621. \Be Ak st )
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T A=Y 19 & UF 9 & o0, 39 F94 1§
H HA T 1 =fey ?

(a) U @ H 9eish 91 ar9 2 el =2 2
(b) TS T 2, 1 A= AE |
© CpmCym=R

(d) dU=C,dT T WA =% fog



Options :
40503640618, (€) 41 (d)

40503640619, (@) T4 (c)

b), (c) T4l (d
40503640620. ®). () (d)

40503640621, (2 (©) T (d)

Question Number : 30 Question Id : 40503611185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 4 Wrong Marks : 1
The intermolecular potential energy for the
molecules A, B, C and D given below
suggests that :
Interatomic distance (pm)

A

0 _I(]L'I

—100

— 200

Potential Lo
300 —

¥

ok

Energy = ° : | .
(k] mol~1) — 400 .8
— 500

— 600

Options :
40503640622, ‘A—A has the largest bond enthalpy.



40503640623 A-B has the stiffest bond.

40503640624. A-D has the shortest bond length.

D is more electronegative than other

atoms.
40503640625.
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AT o fery squstrs feafas =i =i A, B,
C @1 D 5/ i e 7 €, =g & o

; FHATHHATS 56 (pm)
0139 100 %, 150
: _,I" - ’E I.-
—100 el N
) EL ¥
feufast —200 ———— E e
m —300 . LA i . x""J‘ F
. i | . .
(k] mol—1) Lo G e PR
.
_gogl A=A V1 AE
—600 &=l
Options :

40503640620, A-A Tl AT Tt AfrweH 2

i T T i
40503640623. A-B 1 1 iz %l



40503640624, 0 "0l SO AT FTUH
= TS F G H D SRl R

40503640625. = il
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The region in the electromagnetic spectrum
where the Balmer series lines appear is :
Options :
40503640626, - traviolet

40503640627, Visible

40503640628, nirared

40503640629, Microwave
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Toea e Tiegy H 9% 9, el 9 ol
ek IE\:ffq?r'l?lﬁT%. 2

Options :

40503640626. T =T



40503640627. d

40503640628.

N

40503640629.
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The ionicradii of O~ ,F~,Na* and Mg?*
are in the order :
Options :
7 : ooy P
40503640630, O~ > F7>Na®™ >Mg

Mg?* >Na* >F~ >0?
40503640631

7= S F= > Mo+ = Na
40503640632, ¢ >Mg= >Na

2 o 02+
40503640633, £ 07 >Na™>Mg
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02-,F~,Na* a1 Mg2*+ & smafa e
HFEIHE



Options :
02— > F~>Na*t >Mg?

40503640630.

10503610631, M8« >Na* >F~ >0
40503640632, O > F7 >Mg?* >Na*
40503640633, T >0 >Na* > Mg**

Question Number : 33 Question Id : 40503611188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Among statements (a) - (d), the correct ones

are :

(a) Lime stone is decomposed to CaO
during the extraction of iron from its
oxides.

(b) In the extraction of silver, silver is
extracted as an anionic complex.

(c)  Nickel is purified by Mond's process.

(d) Zr and Ti are purified by Van Arkel
method.

Options :

40503640634 Pl e gy

40503640635, (@) (b, (c) and (d)



40503640636, \©) and (d) only

40503640637, (@) (c) and (d) only
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(a) - (d) Tl H, & FUTE

() T Fl 5HHI SHiFATSE H PRl 7
3 TgH W (AR CaO H farafen
31 S 2

(b) o= o freeio H, foearw T 2o
HFd F w9 § Feehpia 2 2|

(c) Tl =1 92 959 GRS F3d ¢|

(d) Zr T Ti ® 99 Aha fafa 9 75
FAAE |

Options :

40503640634, T (B), () T (d)

40503640635, ()7 (B). () T (d)

40503640636, T () WA (d)

40503640637, 71 (a), (c) T (d)
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On combustion of Li, Na and K in excess
of air, the major oxides formed,
respectively, are :

Options :

Li,O, Na,0 and K,0O,

40503640638. % At

Li,O, Na,O, and KQO,
40503640639. - i o

40503640640. Li,O, Na,O, and K,0O

Li,O,, Na,O, and K,0O
40503640641, 202 Na0, and K0,
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9 % N9 H Li, Na @1 K & 89 W
T T AESE A ¢

Options :

Li,O, Na,O @41 K,0,
40503640638, = 2 ot

Li,O, Na,O, 941 KO,
40503640639. ~ ks =



20503640640, 1207 NaxO, T K0

Li,O,, Na,O, 741 K,O
40503640641, 272 A2-2 22

Question Number : 35 Question Id : 40503611190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
On heating, lead(II) nitrate gives a brown
gas (A). The gas (A) on cooling changes to
a colourless solid/liquid (B). (B) onheating
with NO changes to a blue solid (C). The
oxidation number of nitrogen in solid (C)
18 :
Options :

40503640642, ' <

40503640643, T3

40503640644, T4

40503640645, T °
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<Te(Il) -1|s,:¢¢ T FH W UF A
A) T F1 fE (A) FE FA W T TEA
319 /%4 (B) # wftafdd & St €1 (B), NO &
g TH FA TS Al T F 29 (C) H
T S € | 51 (C) H IS i i
e T

Options :

405036400642.

40503640643, 3

40503640644, T4

40503640645, 2
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Correct Marks : 4 Wrong Marks : 1
The elements with atomic numbers 101 and
104 belong to, respectively, :
Options :
G 11 and G 4
40503640646, — P - ancroup

40503640647, TEED0lds end Group &

40503640648, CToup 6 and Actinoids



40503640649, “xctinoids and Group 4
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o, Tt T T 101 991 104 €, F9:
STH HEE €

Options :

40503640646. el

40503640647, oo ASH AH1 T 6
40503640648, 31 6 TN UFR=HEH
40503640649. eI T 9 4
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The number of isomers possible for
[Pt(en)(NO),] is :

Options :

40503640650. 1

40503640651, 2



40503640652. 3

40503640653, 4
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[Pt(en)(NO,),] * fou Hvwa wam=afadi =1
T T

Options :

40503640650. 1

I3

40503640651.

40503640652.

40503640653, 4
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The pair in which both the species have the
same magnetic moment (spin only) is:

Options :

7+

& : ~C1 12
40503640654, | T (H20)6l™" and [Coll,]

40503640655, L FH0)e]** and [Fe(H,0)g]*"



40503640656, [Mn(H,0),]** and [Cr(H,0)]**

& 23—, . 124
40503640657 LCO(OH)4J" and [Fe(NH;)]

Question Number : 38 Question Id : 40503611193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

st (for 7m) 2, e

Options :

20503640654, [CTHL0)gl** T2 [CoCl
20503640655, LCTFLO)]>* T [Fe(H,0)o*
10503640656, IMN(FLO)1 T [Cr(H,0)1
40503640657 [Co(OH),]?~ @= [Fe(NH,)

Question Number : 39 Question Id : 40503611194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



An organic compound (A) (molecular
formula C,H;,0,) was hydrolysed with
dil. H,50, to give a carboxylic acid (B) and
an alcohol (C). ‘C’ gives white turbidity
immediately when treated with anhydrous
ZnCl, and conc. HCl. The organic
compound (A)is :

Options :

O
40503640658. O

0
40503640659, b 2 4

£)
40503640660.

O

.

s
40503640661

Question Number : 39 Question Id : 40503611194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



T T AE (A) (A CH,,0,)
&l @ H,50, &% WY SasAvated fan 1
forad Faifadiers® Ufae (B) 99 Uesreid (C)
figerar &1 == el ZnCL, 9= 9/ HA %
T sifeed foRan T @ C U TiRe ifEed
T A& | FEAE FOTH (A) B
Options :

O
40503640658. O

O
40503640659, '

&
40503640660.

e

N

e
40503640661 .

Question Number : 40 Question Id : 40503611195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The IUPAC name of the foIIf}wing

compound is:

CH; O

Br
Options :

3~ Brf}nm-S-meth}-'IcycIf}pentanoic

40503640662, 2cid

4-Bromo-2-methylcyclopentane

40503640663, carboxylic acid

3-Bromo-5- meth}flcyc Iopenta ne

40503640664, cArboxylic acid

5-Bromo- E-mr_-th}-'lcycInpr:-ntanoic

acid
40503640665.

Question Number : 40 Question Id : 40503611195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Br
Options :

40503640662, 3~ AT-5-H AT 2SS UfHS

4-FHI-2- A A HESAd =2 e
40503640663, HS

3-ATH-5- AT ETATI = Il
40503640664, TS

5_ = K_?,_-E]f. : m x-'x x-‘r-
40503640665.

Question Number : 41 Question Id : 40503611196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The decreasing order of reactivity of the
following organic molecules towards
AgNO, solution is :

cl
I |
“OMe
(A) (B)
CH,CHCH, CHyCHCH,NO,
3
Cl cl
(©) (D)

Options :
40503640666, V) = (B)>(C) > (D)
40503640667. (B) > (A) >(C) > (D)

40503640668, )~ (B) > (D) > (C)

40503640660, (&~ (D) > (A) > (B)

Question Number : 41 Question Id : 40503611196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



AgNO, =1d1 % Ufd 7 S st =i

SAfAfowATTT 1 e %9 ¢ :
Cl
Cl J
.-"'Ir. :
~ OMe
(A) (B)
CH,yCHCH; CH;CHCH,NO,
a Cl
(© (D)
Options :
40503640666, N~ (B> (9> (D)

40503640667. (B) > (A)>(C) > (D)

40503640668, )~ (B) > (D) > (C)

40503640660, (&~ (D) > (A) > (B)

Question Number : 42 Question Id : 40503611197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What are the functional groups present in

the structure of maltose ?

Options :



40503640670. One acetal and one ketal

40503640671 (One acetal and one hemiacetal

40503640672, One ketal and one hemiketal

40503640673, 1 WO acetals

Question Number : 42 Question Id : 40503611197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HIEErS H WA H IUREE B SAfadEE
qEE?

Options :

40503640670, 7 Saeet T TH He

40503640671, =P LHIEA T9 TF THIGHSA

L_l 2 ":_’.E_'""l 1 N s dl‘
40503640672 P pedl T T gHI<

= =

40503640673, 1 W

Question Number : 43 Question Id : 40503611198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



[P] on treatment with Br,/FeBr, in CCl,
produced a single isomer CgH-O,Br while
heating [P] with sodalime gave toluene.

The compound [P] is :

Options :
CH,COOH
40503640674, -
COOH
1 cH,
40503640675,
COOH
40503640676,
COOH
'-I‘-
40503640677, “H1a

Question Number : 43 Question Id : 40503611198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



[P], CCl, # Br,/FeBr, & W9 Af9EHa H1
T Us Ushel gAEgal CgH-0,Br &l fean 5=

T [P] Hieeieq & W TH HH R A
feem 1 Afees [P] 2
Options :

CH,COOH
40503640674,

COOH

1 ci,
40503640675,

COOH

-
40503640676.

COOH
40503640677. CH;

Question Number : 44 Question Id : 40503611199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



When neopentyl alcohol is heated with an
acid, it slowly converted into an 85 : 15
mixture of alkenes A and B, respectively.
What are these alkenes ?
Options :

H;C CH- H,C CH,

N and /
H,C H,;C
40503640678.

CH,
et tHy HyC |
= and il

H-C'
40503640679,  ° CH;

HyC, CHy  HC  CHs

- i::/— and 1
40503640680, ~ ° CH,
CH,
cH, | = CH &
Vi and L
40503640681. CH; CH,

Question Number : 44 Question Id : 40503611199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



w4 FiI=Ee UehEd & UF 35 & {1y
T T AT 99 9% FE: A 991 B ekl
¥ 85: 15 fagw § -+t s« s &1 3
o 1 3 2

Options :

HyC  CHy; H;C CHp

%

40503640678. HC HaC

L
40503640679.

40503640680.

CH,
CHs_ A ' CH; CHp

40503640681 CH; CH

Question Number : 45 Question Id : 40503611200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following will react with
CHC, +alc. KOH?

Options :



40503640682 Adenine and proline

40503640683 Adenine and thymine

40503640684, demine and lysine

Thymine and proline
40503640685.  °

Question Number : 45 Question Id : 40503611200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= § ¥ ®[@ CHCL, + teshefas KOH &
Y =Afafsran =om ?

Options :

40503640682, i1 Al AT

40503640683, ST aAl HTHT

-,

40503640684, Sol 1 AT SIETHT

40503640685, AR THT HTeAT

Sub-Section Number : 2
Sub-Section Id : 405036782
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611201 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



The mass of ammonia in grams produced
when 2.8 kg of dinitrogen quantitatively

reacts with 1 kg of dihydrogen is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 46 Question Id : 40503611201 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Wa EEAsee # 2.8 kg AEAHE €9 °
2EEIEEoM & 1 kg & WY AfAfwa Fa €
il er 2 Arelt ST 5t /e (aE ) 2t

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
5 to 5.002

Question Number : 47 Question Id : 40503611202 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



At 300 K, the vapour pressure of a solution
containing 1 mole of n-hexane and 3 moles
of n-heptane is 550 mm of Hg. At the
same temperature, if one more mole of n-
heptane is added to this solution, the
vapour pressure of the solution increases
by 10 mm of Hg. What is the vapour
pressure in mm Hg of n-heptane inits pure
state ?

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 47 Question Id : 40503611202 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

300 K W, U faerg, faad 1 96 n-gfm

qg1 3 HIA 11-%"@:[%, 1 91 <19 550 mm Hg

€| TH 9 W, ARG n-g2A F 1 1A F faemm

H faam 9™ q1 faaga %1 99 =4

10 mm Hg ﬁ%m%l 11-%"%?331, Eﬁ?ﬁnT

oG a7@@n #, 9191 ¥4 (mm Hg ) =741 2

7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 48 Question Id : 40503611203 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If 75% of a first order reaction was
completed in 90 minutes, 60% of the same
reaction would be completed in

(Take : log 2=0.30; log 2.5=0.40)

approximately (in minutes)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 48 Question Id : 40503611203 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ifg UF wuy Hife = AfafEwm= =51 75%, 90
el # 90 = T @ s A #60%
T BN e fhe e W2
(AH : log 2=0.30; log 2.5=0.40)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.002

Question Number : 49 Question Id : 40503611204 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A 20.0mL solution containing 0.2 g impure

H,0, reacts completely with 0.316 g of

KMnQO, in acid solution. The purity of

H,O, (in %) is (mol. wt. of

H,0,=34; mol wt. of KMnQO, =158)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 49 Question Id : 40503611204 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

20.0 mL faerm fod 0.2 g 31918 H,0, %,

H=Ad foer= § KMnO, % 0316 g & =19

uiaan sAfufwan @ 81 H,0, ® asd

(% ) Brit

(HED2 FH AYHL=34; KMnO, F1 HNHR

=158 )
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5 to0 5.002

Question Number : 50 Question Id : 40503611205 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of chiral centres present in [B]
| TR R
S (i) CoH:MgBr
(  »—CH-C=N } O
/o (i) H;0
CH,

[A]

(i) CH3;MgBr

[B]
(if) H,O
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 50 Question Id : 40503611205 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



[B] W 3ufterd sistel U= &1 9@&A1 ©

= (ll'll S em——" [A]
— CH, (ii) Hy

i) CH;MgBr

(i) CH;Mg . (B

(ii) H,O
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
510 5.002
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503611206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A survey shows that 63% of the peoplein a
city read newspaper A whereas 76% read
newspaper B. If x% of the people read both
the newspapers, then a possible value of x
can be :

Options :

40503640691, 27

40503640692. 5

40503640693, 95

40503640694, 7

Question Number : 51 Question Id : 40503611206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UF g geiar ¥ fF uw I H 63% @
TUER 93 A =4 €, S 76% THER 99 B
Tad & | A x% N SF] HHER 9 9Ed B, dl
x 1 U eIfad 5F 2 9l ¢ ;

Options :

40503640691, 29



40503640692. 5

40503640693, 9

40503640694, 27

Question Number : 52 Question Id : 40503611207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let [t] denote the greatest integer =t. Then
the equationin x, [x]2+2[x+2] —7=0has:
Options :

40503640695, 1O integral solution.

40503640696, ©Xactly two solutions.

40503640697, exactly four integral solutions.

40503640698, nfinitely many solutions.

Question Number : 52 Question Id : 40503611207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ife [t] HewH YUl <t Tt 8, o x H TEE,
[x]?+2[x +2]-7=0

Options :



40503640695, T PIE U B el €|
40503640696, A 2 T € |

F O IR YUt gl ¢ |

40503640697.

40503640698, F 1A EAE|

Question Number : 53 Question Id : 40503611208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

27 4+

Let y = ,z=x+iyand k > 0. If the

z —ki
curve represented by Re(u) +Im(u)=1
intersects the y-axis at the points P and Q
where PQ =25, then the valueof k is :

Options :

¥
40503640699, /2

40503640700.

2
40503640701. 3/2

40503640702. .

Question Number : 53 Question Id : 40503611208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

]

4! {,zzx-l—:'yﬁﬁl'rk}[]%"l g

z — ki
Re(u) + Im(u) =1 51 fA&fua =, y-AH Eal
P 91 Q W Tedl g, W& PQ=5 %, o k
TR E
Options :

HAT 1 =

2
40503640699. L

40503640700.

2
40503640701. 9/2

40503640702,

Question Number : 54 Question Id : 40503611209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

~ostl  isinf T
If A= {t il oy —‘ (l! = —W and
\ 24

isinf  cosf 24 )
5 d '['? g
A° = , Where j—./— 1, then
C L']
which one of the following is not true ?
Options :
= A
40503640703, @ —d==0



40503640704
i 2
40503640705, 0 =@ + b==1

iy b i,
40503640706, & ~ ¢ =1

Question Number : 54 Question Id : 40503611209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

- . costh  isinB| [ )
i P 0= 53] @
1smnb cosb 24 )

L i,

. C II: k' 2 = =
;ﬁ:r j,mﬁd— 18 =
C 4
Y FEA-TTA T 87

Options :

"J 7
40503640703, @~ —d==0

40503640704.

) 2
40503640705, 0 =a~ + be=1

az—c2=1
40503640706. =

Question Number : 55 Question Id : 40503611210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

20
50—r ~
The value of Z Ce is equal to:
r={)
Options :
50— 30—
]{-{i il 3{]{-—{5
40503640707.
50 — 30
40503640708. f' f'
i) P 30—
{._-.r — ]{._-.r
40503640709. g :
51{:7 + 3
40503640710. . g

Question Number : 55 Question Id : 40503611210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

2
5{}_ —% =
Z Co T :

r={
Options :
50— 30—
]{‘--E': i 3{]{‘-{5
40503640707.
HOC. — 300,

40503640708. A

51 30—
{._ - ]{._ rd
40503640709. : d



40503640710.  ° :

Question Number : 56 Question Id : 40503611211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let @ and B be the roots of x2—3x+ p=0
and vy and 3 be the roots of x> —6x+q=0.
If e, 3, v, & form a geometric progression.
Then ratio (2g+p): (2qg — p)is:

Options :

40503640711, 2231

40503640712.

40503640713, 23

40503640714, 3:1

Question Number : 56 Question Id : 40503611211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HAT o T B, FHIH 22 —3x + p=07F T &
FR y A5, THIH 22— 6x+q=0F A2 |
e o, B, y T & TUITR Foit F &, <1 F9m,
(2q+p): (29— p) ¥:

Options :



40503640711, 22 31

40503640712.
40503640713, 23

40503640714, 3:1

Question Number : 57 Question Id : 40503611212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I
1+(1-221)+(1—-4%3)+ (1 —62%5) +..... +
(1—20%19)=a— 220B, then an ordered pair
(o, B) is equal to :

Options :

40503640715, (10, 97)

(10, 103)
40503640716

40503640717, (11, 103)

40503640718, 117

Question Number : 57 Question Id : 40503611212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



B

1+(1-221)+(1-4%3) + (1 -6>5) +.....+
(1—-20219) =a—220p, @ T&H HAA TH
(o, H]E{W%

Options :

40503640715, (10, 97)

(10, 103)
40503640716

40503640717, (11, 103)

40503640718, 11 %7)

Question Number : 58 Question Id : 40503611213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function on
(1, 6). If f(2)=8, f'(2)=5, f'(x)=1 and
f"(x)=4, for all xe(1, 6), then :
Options :
40503640719, J(9)=10

' )
40503640720, | C)H['(9)=28

40503640721, 1 @) F1(G)=20



40503640722, 1 @) H/(0)=26

Question Number : 58 Question Id : 40503611213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HA Ferd f, FUE (1, 6) H a1 97 SGFHAqd
g1 A f(2)=8,f(2) =5, T T xe(1,6) F
fau f =19 ()24 € @ :

Options :
40503640719, JO)=10

' -2
40503640720, 1 @) T/1(0)=28

40503640721, 1 @) F(G)=20

40503640722, 1 ©)H[1(5)=26

Question Number : 59 Question Id : 40503611214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 4 Wrong Marks : 1
If (a4 \Eb{:(}ﬁl} {a \;Ehcnsy']z az hzr

dx (o @)
; a>h> — atl—, —1|is:
where a > b > 0, then dy al LY is

Options :

=p

da

40503640723, a+b




o
-

>
o

40503640724.

a+b
40503640725, @~ b

a—2b

p, ~y
40503640726, 2 2P

Question Number : 59 Question Id : 40503611214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 4 Wrong Marks : 1
€ (a++/2 beosx)
la \Ebcosy} =aZ —b%, Wa>b>0 %

‘-..fTr Tl'lll d_l- %
M| —— | W 90 T:
4" 4) T dy '
Options :
a—b

40503640723, a+b

40503640724, 22 — b

40503640725, @~ b



a—2b

s
40503640726, 2 2P

Question Number : 60 Question Id : 40503611215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 4 Wrong Marks : 1
Let f(x)=|x—2| and g(x)=f(f(x)), x€[0, 4].
3
Then j‘{g{l] f(x)) dx is equal to:
0
Options :

40503640727. 0

2 | =

40503640728.

40503640729, 1

N[

40503640730.
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afs xe[0, 4] % fau fx)=|x—2

2|
3
@) =fw) & T @) ~fe)dx TR
0
X
Options :

40503640727. 0

1
40503640728, 2

40503640729, 1

|

40503640730.

Question Number : 61 Question Id : 40503611216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 4 Wrong Marks : 1

¢ o 2
The integral _H T —

X siny +cosx

dx s c-qual
o

(where C is a constant of integration) :
Options :

rtan x
secxy

+C
xsinxy + cosx
40503640731.



rtanx

S5eCXx - | C

40503640732. xsinx + cosx
tanx + — _I?DCI e

40503640733. XsINX + COSX
xXsecx &S
tanx - Ve

xsinx + Ccosx

40503640734.
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i x ".2
eI jl — | &
| Xsinx +cosx )
(ST C U THIHE T E)
Options :
secy o ‘xtanx L C
Y b
40503640731. XSINXY + Cosx
SeCY Ttanx | {:
40503640732 xsinx + cosx
Xsecx _
tanx - . | {._
40503640733 xsinx + cosx
tanx XSecx Ve

.-' " | g .
40503640734, xsinx + cosx
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oz
Let f(x) :jﬁ dx (x =0). Then
x

f(3)—f(1) is equal to :

Options :
T I 1 I xﬁ
40503640735, 122 4
m, 1B
40503640736, 12 2 4
w,1_\3
40503640737. 6 2 4
gl N
40503640738. 6 2 4
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. I -
af ._rm—jmmu >0) 3,

f(3)—f(1) TR E :

Options :



LA B ]
40503640735, 12 2 4
T, 1 3
40503640736, 12 2 4
=, 1_3
40503640737. 6 2 4
Wi, U8
40503640738, © 2 4
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Let y=y(x) be the solution of the
differential equation,

xy' —y=x%(xcosx +sinx), x > 0. If
" g foih
y(w)=-, then ¥ | E,J | jlf|‘ E,J is equal to :

Options :

40503640739.

14
40503640740.



[
=] | = |

40503640741.

dl

4

(%]
(S

40503640742.
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AT ATl FHIFHI
xy' — 1y =x*(xcosx + sinx), x > 0 F B y=y/(x)

F e, P teby
' rth—a H. S "l = + ¢yl =
¥ 1 Atz y(m) w%mylzj Jf|‘2;|ﬁlTIE=R

T
Options :
14 ;}
40503640739. 2
o g
1|';'|L
40503640740. 2 4
g
)
40503640741, =
2
2|L|L
Z2 4

40503640742.
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A triangle ABC lying in the first quadrant
has two vertices as A(1, 2) and B(3, 1).
If /BAC = 90°, and ar.{k_LﬂiEC.] = 5«4’3 sq.
units, then the abscissa of the vertex Cis :

Options :

40503640743, 1+2v5

40503640744, V5
2 )

40503640745, = V5
e g

40503640746, V5
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U S ABC, S Wem Iqafw § frm 7, ¥
| vid fag A(1, 2) 9T B3, 1) ¥ 1 =fT
ZBAC = 90° T9T ar (AABC) =55 =7l
THE T, i fag C F1 99 (Abscissa) ¥
Options :

40503640743, 1+ 25



1+ 45

40503640744
2 )
40503640745, = V5
245 —1
40503640746, V5

Question Number : 65 Question Id : 40503611220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

2 2
Let l—,_l I y—j =1(a >b) bea given ellipse,
a” |

length of whose latus rectum is 10. If its

eccentricity is the maximum value of the

: : 5

function, ¢(t) = o tt —t2, then a2+b?
is equal to :
Options :

40503640747, 116

40503640748, 126
40503640749, 15°

40503640750, 149
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2 2

Iﬂ:ﬂ% | £—1{a‘}h]ﬁmﬁﬁm%

=
a b“

o & fvera <A1 =1 o= 1021 afz =3

F1 Ieh=sdl, Fed dﬂt}==i§; Ft—t2

HATIHaH 91 % FUEL 8, 91 a2+ b2 e B
Options :
40503640747, 116

40503640748, 126

40503640749, 15°

40503640750, 149
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Let P(3, 3) be a point on the hyperbola,

2

y _

e If the normal to it at P

a b“

e
[ =

intersects the x-axis at (9, 0) and e is its
eccentricity, then the ordered pair (az, c'z]

is equal to:

Options :



ix.}| e}
(8]

40503640751.

40503640752, (%:3)

40503640753, /

.{g ]
=g
40503640754, 2/
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- = 3 ]
HIH iaﬁ P(3, 3) AAlqIEed, — — ~— =1

W T 1 afs P9 sweht sifirea, x-3181 1
fag (9, 0) W F1ed € 41 SHFHT Sh=dl e &
W%ﬁTEﬁﬁﬁ?_{"ﬁ{a%@]W%’:
Options :

ix.}| e}
(8]

40503640751.

40503640752, (%:3)

40503640753, /



2
40503640754.
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Let X, be the point of local maxima of

—3 )

f(x) = a- (I‘: X ¢ _.| ' where

—

a=xi 2; I?rof, b =-274 :L; k

and ¢ =71 2; + vk . Then the value

of a-b+bh-ctc-a at x=x,is :
Options :

40503640755, 30

40503640756, 22

40503640757. — 2

40503640758, 14
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a-b+b-c+c-a FAAE
Options :
40503640755. —30

40503640756, 22
40503640757, —4

40503640758, 14
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The mean and variance of 8 observations
are 10 and 13.5, respectively. If 6 of these
observations are 5, 7, 10, 12, 14, 15, then
the absolute difference of the remaining
two observations is :

Options :

40503640759. 3



40503640760. 9

40503640761, 7

40503640762, 2
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8 Y&TUT =T {1 T WEI0T FHHI: 10 941 13.5
1 afe 578 | 6 985, 7, 10, 12, 14 949115 §,
T =Rt =1 Fequi o1 e o E

Options :

40503640759, 3

40503640760. 2

40503640761, 7

40503640762, 2
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Two vertical poles AB=15 m and
CD=10 m are standing apart on a
horizontal ground with points A and C on
the ground. If P is the point of intersection
of BC and AD, then the height of P (in m)
above the line AC is:

Options :

40503640763, ©
40503640764, 10/3
40503640765, 20/3

40503640766, 2
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g =9 G4 AB=15 m T CD =10 m, &=t
Y RmEr s E fF Admc g m )
afg BC @1 AD &1 Wig=ed fag P &,
W ACHPHI F4E (m¥) T

Options :

40503640763, ©
40503640764, 10/3

40503640765, 20/3



40503640766. 2
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Given the following two statements :
BG:@vp—=@e~9 is a
tautology.

.{S;_j: ~q A (~p < q) isafallacy. Then:
Options :

40503640767 both (S,) and (S,) are correct.

40503640768, only (S;) is correct.

only (S,) is correct.
40503640769. i

40503640770, both (S;) and (S,) are not correct.
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AT fumu e

.(Sljz(q v p) = (p < ~q) T %1 2 |
2): ~ q A (~p o o EETREFRE @
Options :



(S,) T (S,) THI Tal B

40503640767.
40503640768. 1 (Sy) Tel €l
40503640769, 7 (S2) T 71
(S,) T (S,) ST Tl &l |
40503640770. =
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If the system of equations
x—2y+3z=9
2x+y+z=b
x—7y+az=24, has infinitely many

solutions, thena—bisequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002
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x—2y+3z=9
2x+y+z=b
x—7y+az=24

FHTaeAsdla-baEEE
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Text Areas : PlainText
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5 to0 5.002
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20
'j _2 f% = ’ lﬂ by g T
Let (x" +3x +4)" = a;x . Then
r=0
: a;-

is equal to
a3 q A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 72 Question Id : 40503611227 Question Type : SA Display Question Number : Yes



Correct Marks : 4 Wrong Marks : 0

20 '
a'-'
afs @x2 +3x +4)10 = Zarf, Gl af
13

r=0
WS |
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002
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Suppose a differentiable function f(x)

satisfies the identity
flx+y)=fx)+fy)+xy*>+x%y, for all real
o f®)

xand y. If Jim 2
=0 X

=1, then f'(3)is

equalto
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Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
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51t05.002
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A FH AR H@&e « 991y % o, T
HATFHE Fe f(x), FAAHF (identity)
fO+y)=f(x) +/ () +xy?+ a2y T T

FA | AlG lim J&) _ 1 dpe) s
r— X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
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5t0 5.002
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If the equation of a plane P, passing
through the intersection of the planes,
x+4y—z+7=0 and 3x+y+5z=8 is
ax +by+6z=15 for some a, be R, then the
distance of the point (3, 2, —1) from the

pla_nr_- Pis
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Text Areas : PlainText

Possible Answers :



5t05.002

Question Number : 74 Question Id : 40503611229 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

f&=1 a, b e R T foT0, T9aet P =1 |Hi=H0, S
E’Hﬂ'ﬁ,x+-—1y—z+?=[]?lm31+y+52=8%?
yfoeged 9 BT Sl 8, ax+by+6z=15 %,
@ fag (3,2, —1) ® 99qA P ¥ 0 9=

e |
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51t05.002
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The pmbabﬂit}-' of a man hitting a target is

ﬁ' The least number of shots required,

so that the probability of his hitting the

target at least once is greater than 1’
5 L
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Show Word Count : Yes
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5 to0 5.002
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UF =fad & UF @89 & Y54 Fi gl

I = = T WL
ﬁ%l FHeh H H &hH Ush 9 of&d ohl Had

(=) 1 = - =
EdB B E Xl Eﬂaqfﬂa?amaﬁiﬁﬁ.  IEFPED
32l (shots) T %9 & %9 HEAl 2
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